Captain Seat Frame and Actuator Hardware
(After 10/31/01)

Captain seat
attaches here

—

- N _
/\

—

~ -
Y i
RN
:\_\ \y> N
NN 2 ~.
e AT o

P

pd

Seat positioning strap N
reference only. -
See miscellaneous N =
accessories. \f/) e

Full recline captain /
™~ Il
seat reference only. "~ / I »

Switch sensor

mounting plate is a

non-serviceable part.
/

ST
i i LAY
(For Full Recline Models Only) /%/ Sensor cable reference ('\!5) B /%//
L

only. See harnesses N~ — (1) — ——
and cables page. ~



Captain Seat Frame and Actuator Hardware

(After 10/31/01)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1070455-NLA | NLA - Frame, Seat, Black (18" W) 1 1
1 1108099-NLA | NLA - Frame, Seat, Black (20" W) 1 1
1 1101913-NLA | NLA - Frame, Seat, Black (22" W) 1 1
2 1108411-NLA | NLA - Spacer (1/4 x 5/8 x 3/8") 1 2
3 7930333 Locknut (1/4-20) 25 6
4 1030949 Screw, Hex Head (1/4-20 x 1-1/2") 1 6
5 1108410 Spacer (1/4 x 5/8 x 1/4") 1 2
6 1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
7 1026154-NLA | NLA - Screw, Hex Head (1/4-20 x 2-1/4") 1 2
8 1047449-NLA | NLA - Spacer (1/4 x 3/8 x 3/16") 1 4
9 1021406 Screw, Hex Head (1/4-20 x 1-1/4") 1 2
10 1026900 Washer (1/4 x 23/32 x 1/16") 1 4
11 B 1079208-NLA | NLA - Hardware, Captain Seat Mounting 1 1
12 1008525-NLA | NLA - Washer, Internal Tooth Lock (#4-40) 1 4
13 7930339-NLA | NLA - Package, Screw, Phillips Pan Head (#4-40 x 25 4
3/8")
14 P0870X000 Nut, Hex Keps (#4-40) 1 2
15 1024001 Sensor, Actuator Switch 1 1
16 A 1107242-NLA | NLA - Hardware, Actuator Switch Sensor Mounting 1 1

NOTE: A -Includes items 12-15
B - Includes items 2-10




